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o1 & — ¥ 376 432 458 890 | | 4a0 -2 -3 -2 -5
o12# &~  — #l 190 261 281 542 | -1 -1 0 -1
021|R zf 379 453 415 868 0 -1 2 1
031|/1 Wl 125 149 154 303 -1 -1 1 0
032|% 1 — | 846 | 1,125 | 1,129 | 2,254 2063 -8 -2 -5 -7
o33|# gl 1,016 | 1,328 | 1,371 | 2,699 | -1 0 1 1
034/|f] n wEl 383 507 511 | 1018 | .o 0 -1 -2 -3
1533 T B ()| 284 343 376 719 | -5 -6 -6 -12
041Kk mr 124 139 139 278 514 0 0 -3 -3
152\ 2T H(KHE)| 105 115 121 236 2 0 2 2
042 fif 135 156 165 321 0 0 0 0
051/ fif mr 425 472 492 964 1489 -4 -6 -6 -12
1504 s 1 T B (fPED)| 221 248 257 505 | 1 4 0 4
053| 3 mr| 248 282 298 580 654 1 -1 1 0
151\ 1 T H (FHET) 30 40 34 74 0 -1 -3 -4
054k FH 96 120 121 241 2 2 0 2
o61|% H — | 114 154 153 307 1026 1 2 3
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071|7% Al 103 114 106 220 -1 -1 -1 -2
072| i Hl 121 107 112 219 1 -1 0 -1
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o81|Lo22LA1T H| 265 359 361 720 0 1 0 1
og2|lLo/rLAHE2T Al 285 361 347 708 0 -2 1 -1
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085/L522LAST Al 295 369 347 716 1 1 1 2
086|L L/ LE6T H 0 0 0 0 0 0 0 0
10146 B 1 T HA| 355 434 442 876 4 2 5 7
1024k 2 T H| 366 440 460 900 | 2,671 0 0 -1 -1
103|4E 3 T H| 334 449 446 895 1 -1 0 -1
112/% (b 2 T H 331 406 404 810 1 1 2 3
113|%F 11 3 T A 446 544 568 | 1,112 | 2,937 1 0 0 0
114% (b 4 T H 402 484 531 | 1,015 0 -1 1 0
1211F £ 517 A 243 289 320 609 3 4 4 8
1225 EH 27T H 343 422 450 872 | 2,390 0 1 -1 0
1235 £ H 371 H 349 452 457 909 0 1 0 1
1IB1IER A1 T H 290 421 437 858 0 -2 -1 -3
132 R H 21 H 255 362 390 752 3641 0 -1 0 -1
133 A A 31 H 324 449 491 940 | 1 0 -2 -2
134 &+ 5 4 T H| 406 520 571 | 1,091 0 -1 -3 -4
141 |4 D T 193 281 275 556 0 -1 -1 -2
1713 b 1 T A| 397 601 646 | 1,247 1836 1 -1 1 0
172/% |1 2 T H 180 311 278 589 | -2 0 -2 -2
g 14,035 | 17,726 | 18,234 | 35,960 8 -12 -11 -23




